[ Efficiency vs vertpos |

= 0.05
9.045F
2
2.0.04
(8]
@.035
=]
$0.03
0.025
0.02
0.015
0.01
0.005

Ratio

Efficiend

~ 0.05
9.045
2]
£0.04
>
(@)
0035
£0.03
(]
0.025
0.02)
0.015
0.01
0.005

Ratio

Ce

.........................

.........

........................

........

1.0

e

UL BN LRRR RARRNRARRE RRRRN LRALN RAARN LARLAN RARLN LAAN

o

©

Ba
s

101

1

10 0
TP vertr (cr%)

2

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

...............

.................

................

..............

...................

...................

..................

1.0

e

P T

055

-20 -10

0

[ Efficiency vs. sim PV z |

~0.05
>
80.045

S

=0.04
9.035
Py
£0.03
.025
(]
0.02
0.015
0.0
0.005

10 20
TP vert z (cm)

=

0.95

P08 6 -4

2 0 2

4

Sim. PV z (cm)

6 8 10

30




	Contents
	Page 1


